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Mathematics Mega Quiz for RRB NTPC 29th Sept. (Questions)

Q1. The total age of A and B is 12 years more than the total age of B and C. C is how many years
younger than A ?

AdRBHRFAAIBATCHI T AT 12 aF AfAF §. ¢, A Frqmr af ST &2

(a) 12

(b) 13

(c) 14

(d) 15

Q2. The ratio of Ram’s present age to Mohan'’s present age is 5 : 6. 8 years hence this ratio changes
to 7 : 8 Find their present age of Ram.

TH T TAATT S FT TG A TAHTT AL F AT 5 : 6 §. 8 TH 913 I AT 7 : 8 | T STTIAT. TH Ht
FAAT A AT HIfor

(a) 18

(b) 19

(c) 20

(d) 21

Q3. If salary of X is 20% more than salary of y, then by how much percentage is salary of y less
than X?

i X FTATT Y F 309§ 20% ATF §, AT Y FT Aq9 X % aa+ o Fovae Sfrera & w7 872
(a) 25

(b) 20

(c) 50/3

(d) 65/4

Q4. A can do a piece of work in 24 days. If B is 60% more efficient than A. then how many days does B
require to do the same work?

A UF T FT 24 a7 H T F F6haT €. T2 B, A H 60% ATeF TAA &, qT IHT 1 Al F77 # B Fl oha 1 997
FIRTT?

(a) 12

(b) 15 '3 Yo

(3) ]i% A COMPREHENSIVE

(d) GUIDE FOR
RRB NTPC STAGE-1& 2

Q5. The value of equipment depreciates by 20% each year. How much less will [ ——————

the value of the equipment be after 3 years?

5
TTFEI T H TAF AT 20% TF FH ST 5. 3 T A1 TR0 7 qoT Fraar 77 [y F'#l;i‘:::%‘“,@!___, ;

er? e
(a) 48.8% 5 TR
(b) 512% F;zv:::s b
(C) 54% Papers A

addazvi

(d) 60%
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Q6. In an examination, 93% of students passed and 259 failed. The total number of students
appearing at the examination was

T THET H, 93% T IV T SR 259 FRM0T g T0em § Sufeaa For it i dear frae oft?

(a) 3700

(b) 3850

(c) 3950

(d) 4200

Q7. Aboat goes 12 km upstream in 3 hours. If the speed of the current is 3 km/ hr, then the speed
(in km/ hr) of the boat in still water is

TF 1 3 " # 12fF.H ara F gfager st €. afe e Fi wfe 366 /e § a1 Ru it § Ara FF fa s
ENE D

(a) 12

(b)9

(c)8

(d) 7

Q8. If the difference between the S.I. and C.I. on a certain amount at 10% per annum for 2 years is
Rs. 20, then the sum is :

T T RfSra Tfr 92 109% Tiaad o< 2 7 i srafer & forg aremor sarer sik awg e s3Te % 787 F7 (0% 20%
&, a ey frarett 82

(a) Rs. 4000

(b) Rs 2000

(c) Rs. 1500

(d) Rs. 3000

Q9. Profit on selling the watch at Rs. 850 is equal to loss on selling it at Rs. 650. What is the cost-
price of the watch?

T 921 T 850% TX A & WTH ATH I 650%F I 9 T G AT FI 6 TUAL 8. TSI HT 67 T FAT 8?2

(a) Rs. 720

(b) Rs. 750

(c) Rs. 800

(d) Rs. 735

Q10. The sum of first 20 odd natural numbers is equal to :

gt 20 frws ST |TeaTs FT I §:

(a) 210

(b) 300

(c) 400

(d) 420 TEST SERIES
Bilingual

Q11. The difference between 90% of a number and 83% of the same
number is 175. What is 99% of that number?

T G&AT T 90% T THTT G&AT FT 83% F 19 F (A< 175 §. ST T&IT HT RRBNTPC
99% FT &7 PREMIUM
(a) 2420

(b) 2475 100+ TOTAL TESTS
() 2500

(d) 1750 Validity : 12 Months
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Q12. Two cones have their heights in the ratio 1:3 and the radii of their bases in the ratio 3:1. Find
the ratio of their volumes?

I AFA FY FATS T AT 1:3 § S ST AT it AT 7 AT 3:1 7. IToh AT T SITATA ST hI1orT?
(a) 3:1

(b) 2:1

(c) 4:1

(d)5:1

Q13. Ram, Karan and Rohan invested capital in the ratio of 2:3:4 for the time period of 6:4:3. Find
the ratio of profit distributed?

TH, FHIT A AT A 6:4:3 F srafeay F forg Rasr i =Y gt &1 Aqura 2:3:4 . FaRa sivw 7 srquma 919
e

(a) 12:13:14

(b) 13:12:14

(c) 13:14:12

(d) None of these

Q14. A sum of money becomes triple itself in 16 years. In how many years will it become 5 times
at the same rate?

T ALY STq 3T 16 T H A I[AT BT SATAT & THIT I I TG G Fohaqe Tu1 A 5 AT g7 ATCRAT?

(a) 32

(b) 15

(c) 27

(d) 30

Q15. The compound interest on Rs.30,000 at 7% per annum is Rs. 4347. The period (in years) is:
7% T AT 9X 30,000 T I Thg (a5 SATST 4347 T §. AT ¢ (AW /) ?:

(a) 2

(b) 2%

()3

(d) 4

Q16. Thirty-five percent of 740 is 34 more than a number. What is two-fifths of the number?
740 FT 35% T G&AT & 34 ATAF g, G&ATH12/5 §?
()45

(b)90

(c)180

(d) 120 Special Offer

Q17. If 2x + 3y = 87 and 3x - 3y = 48, what is the value of x?

(e 2x + 3y = 87 AT 3x - 3y = 48 § AT x T A FAT§? RRBNTPC 2019
Lt STAGE-1

(c)72 25 Previous Year Papers
(d) None of these

Bilingual | Validity : 2 Months
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Q18. The no of revolutions a wheel of diameter 40cm makes in travelling a distance of 176m is
T 40 ¥ T ITA TH TR F F1 it AT FATE S 176 T fr T ax war &2

(a) 240

(b) 140

(c) 40

(d) 340

Q19. The curved surface area of a cylindrical pillar is 264 square meter and its volume is 924
cubic meters. Find the ratio of its diameter to its height

TF TAATRIC CAF FT TohIT THT STHA 264 1 HieT § 3T STHT AAAT 924 ¥ e §. ST AT q STl
FHATE, FT FATT A1 Hrfor?

(@)3:7

(b)7:3

()6:7

(d)7:6

Q20. If the volume of the cube is 729cm?, then the surface area of the cube will be
TS o T SIAT 7298+ § Q1 o FT THT AR g

(a) 486 cm?

(b) 456 cm?

(c) 446 cm?

(d) 476 cm?

Q21. What is the ratio between the volumes of a cylinder and cone of the same height and of the
same diameter?

T GHTT SATS, S GHTH ATH AT RS Sl €7 & Qe & o1 T T 4T 8

(a) 2:1

(b) 3:1

(c)4:1

(d)5:1

Q22. At what rate of compound interest per annum will a sum of Rs.1200 become Rs.1348.32 in 2
years?

& el Tsha e saTsT it fohe I IR, 2 99§ 1200 T3 $HF T 1,348.32 Fr SATTIAT?

(a) 6%
(b) 6.5%
(A)7%
(d) 7.5%

Q23. How much will be the compound interest to be paid on a

Special Offer
principal amount of Rs 85,000/ after 3 years at the rate of 6 p.c.p.a?

B R R T Rt Eaf s b e atactd RRBNTPC 2019

o e fe sarsr fvaa gm? STAGE-1
(a) Rs 16623.36/-

(b) Rs 16236.36/- 35 TOTAL TESTS
(c) Rs 16326.36/-

(d) Rs 16632.36/- Bilingual | Validity : 2 Months
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Q24. A sector of 120 degrees, cut out from a circle, has an area of 66/7 sq cm. Find the radius of the
circle?

T 120 =3 % & 1, UF 9 & FTT 14T ¢ SHET 56 66/7 T ST 2. Fa o Brear ama fifor.

(a) 1cm

(b) 2cm

(c) 3cm

(d) 4cm

Q25. Sachin is younger than Rahul by 7 years. If the ratio of their ages is 7:9, find the age of Sachin?
A=, TEA | 7 9 GIeT ¢, [ ST AT AT TTATT 7:9 &, TT 1= a0l 0 AT i ford:

(2)23.5

(b)24.5

(c)12.5

(d)14.5

Q26. A man buys some articles at Rs. P per dozen and sells them at Rs. P/8 per piece. His profit percent
is?

U ATk P % YT @919 I¥ %, AeqU GLEAT g 3AI¥ 3vg TTd 8 IIH PE U< 94T & SEHT ATH TIT9Id &

(a) 30

(b) 40

(c) 50

(d) 60

Q27. A single discount equivalent to three successive discounts of 5%, 10%, 20% is?
T Tl e ST 5%, 10%, 20% o FARIT g % aa &

(a) 68.4%

(b) 35%

(c) 31.6%

(d) 32%

Q28. On selling an article for Rs. 240, a trader loses 4%. In order to gain 10% he must sell that article for?
T TG Dl 240% I 997 § TFH THAITL Dl 4% I T 2l 6. 10% FT ATH ITH FIA 6 (0 I8 39 aeq &l
Toha el {og I J=4T ATE0?

(a) Rs. 275

(b)Rs. 340

(c) Rs. 320

(d) Rs.264

Q29. The H.C.F and L.C.M of two numbers are 8 and 48 respectively. If one of the numbers is 24, then the
other number is?

ZT HEATSAT 1 7.9 3T .9 FHL: 8 ¥ 48 7. T3 UF H&AT 24 &, T1 gL qeAT

(a)48

(b)36

()24

(d)16

Q30. In a triangle, the angles are in the ratio 2 : 5 : 3. What is the value of the least angle in the radian?
T ST ®, F7 22 5 : 3 % AT & 8. LI § T = 07 1 A1 61 22

(a) /20

(b) m/10

(c)2m/5

(d) /5
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